
6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

0.1446

0.1448

0.145

0.1452

0.1454

0.1456

0.1458

0.146

0.1462

0.1464

al
ph

a1
3_

4e
X

1X

alpha13_4eX1X:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

2.485

2.49

2.495

2.5

2.505

2.51

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

0.45−

0.445−

0.44−

0.435−

0.43−

0.425−

0.42−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

0.18

0.19

0.2

0.21

0.22

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

107.5−

107−

106.5−

106−

105.5−

105−

104.5−us
l_

1X

usl_1X:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

0.15−

0.1−

0.05−

0

0.05

0.1

0.15

0.2

0.25

us
l_

4a
Y

usl_4aY:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

50

50.5

51

51.5

52

52.5us
l_

4e
X

usl_4eX:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

22

us
l_

4e
Y

usl_4eY:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

39.3−

39.2−

39.1−

39−

38.9−

38.8−

38.7−

38.6−

us
l_

12
X

usl_12X:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

165−

160−

155−

150−

145−

140−

us
r_

1X
usr_1X:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

1.8

1.9

2

2.1

2.2

2.3

2.4

2.5

2.6

2.7

us
r_

4a
Y

usr_4aY:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

210

215

220

225

230

us
r_

4e
X

usr_4eX:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

14.15

14.2

14.25

14.3

14.35

14.4

14.45us
r_

4e
Y

usr_4eY:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
r_

12
X

usr_12X:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

31350

31400

31450

31500

31550

31600

31650us
l_

co
il1

usl_coil1:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6140

6150

6160

6170

6180

6190

6200

6210

6220

us
l_

co
il3

usl_coil3:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

4150

4200

4250

4300

4350

4400

4450

us
l_

co
il4

usl_coil4:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

1225−

1220−

1215−

1210−

1205−

us
l_

co
il6

usl_coil6:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

14700

14750

14800

14850

14900

14950

15000

15050

15100

15150

us
l_

co
il7

usl_coil7:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

27650−

27600−

27550−

27500−

27450−

27400−

27350−

27300−

us
r_

co
il1

usr_coil1:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

5327.1−

5327−

5326.9−

5326.8−

5326.7−

5326.6−

5326.5−

5326.4−

us
r_

co
il3

usr_coil3:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

4080

4100

4120

4140

4160

4180

4200

4220

4240

4260

us
r_

co
il4

usr_coil4:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

638−

636−

634−

632−

630−

628−

626−

624−

622−

620−

us
r_

co
il6

usr_coil6:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

18100

18200

18300

18400

18500

18600

us
r_

co
il7

usr_coil7:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

441.5−

441−

440.5−

440−

439.5−

439−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

70.6−

70.4−

70.2−

70−

69.8−1
X

_c
oi

l3

1X_coil3:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

20

20.5

21

21.5

22

22.5

23

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

477−

476−

475−

474−

473−

472−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

88.7−

88.6−

88.5−

88.4−

88.3−

88.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

18

18.5

19

19.5

20

20.5

21

21.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

172

172.5

173

173.5

174

174.5

175

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

36.64

36.66

36.68

36.7

36.72

36.74

36.76

36.78

36.8

36.82

36.84

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

11−

10.5−

10−

9.5−

9−

8.5−

8−

7.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

182

182.5

183

183.5

184

184.54e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

26.1−

26.05−

26−

25.95−

25.9−

25.85−

25.8−

25.75−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

9.5−

9−

8.5−

8−

7.5−

7−

6.5−

6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6385}



6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

237.5−

237−

236.5−

236−

235.5−

235−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

83.5−

83−

82.5−

82−

81.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

5.5−

5−

4.5−

4−

3.5−

3−

2.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

420.4−

420.2−

420−

419.8−

419.6−

419.4−

419.2−

419−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6385}

6115 6115.2 6115.4 6115.6 6115.8 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}
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